General Mathematics (Arts Group) 0171 (Group - i

PAPER : PART-1 (9" Class) SECONDARY Academic
MARKS: 60 ' (SUBJECTIVE PART) a :
- Attempt any sIx parts. @ (6x2=12)
i | 70 s what percema ulll Define ratio . s
' iv | Calculate the amount of Zakat on an amount of
1l 3| Rs. 956000.
\ [ vi | Define inheritance. I
‘is irrigated by artificial sources? 5 | 48
vit | Define profit. viii | If MP and percenthge discount are givtn,rlhen
| . write the formula of SP.
| ix Define business partnership. . ' -_
3~ Attempt any six parts. ) (6x2=12)
i | Define cheque. J ii | What is meant IlJl]"fFI'ESSE[l cheque? | "
"iii | Find the simple interest on Rs. 20,000 in | iv | What is meant by Tax? BT e
5__ 3 years at the rate of 7.5%. BN ‘
v | The annual value of a house is vi | Define personal income,
Rs. 17,00,000. Find the tax payable at a ‘
rate of 5%. . TN T
Vil | Write 3.51 X 10% ik standard oFm, viii | Write in the form of single logarithm j
e il et i Slog 2 x=T7logy it
ix | Simplify and wr;lt answar in positive :
exponent.  * 'Y
71 & .
: : et e o e |
4-  Attempt any six parts. —_ (6x2=12)
: i | Write the general term of arithmetic ii | Findb if =3 isthe AM between 2and b
sequence. | ._ : ——— |
jii | Find the union of A and B iv | Défine Onto function.
- {IrA=(135) , B=46) |
v | Define Cartesian plane. | vi | Define conversion graph.

vii | Define median. L R . Define weighted mean.
ix | Define range and write its formula. , _ @ S
SECTION - It

Note:-Attempt any three questions. O @ @ﬁj@
- 5 a)  Ajuice malgfgtturcra{(m ity i eday ploying 15 workers

| r of units manufactured when he employs

ing 6 hours. (04)

A woman died and left a property of worth Rs. §5,00,000. Calculate the amount

" of share of her husband if she had two children. i (04)

6 a)'  Divide the profit of Rs. 285,000 among four partners in the ratio, 2:2:5:3.  (04)
b)  Find the simple profit on Rs. 46000 at 5% for 3 years. (04)

7- xli The annual income of a person including all allowances is Rs. 384,000 and the

exempted amount is Rs. 1,90,000. Find the income {ax payable by him at the rate

of Rs. 0.65%. (04)
bi Slmp“[}' Ele X “/‘l? X Iljg , A% 0 (04)
a}' - 31 31
¢ 3 Findfour AMsbetween -9 and 1. (04)

If U= (12325}, A= {69,12,15,18,21) and B = {5,9,13,17,21;

C c o
verify De Morgan's Law. (AUB) =A N B. (04)
9- 2 Draw the figure with the help of following points. (04)
A7 1 Bi-3,9).C4,=))
5 - Fiod the standard deviation of the following set of observation
41.51.61,71,31,21,11 (04)
(The End)
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